
h
ttp

://w
w

w
.ju

x
in

fa
ste

n
e

rs.c
o

m

')'

AUTOMOTIVE SCREWS FASTENERS SERIES
E-type TORX flange bolts

AUTOMOTIVE SCREWS  FASTENERS  SERIES

Standard DIN!"#$$-&$$%:

Cheese Head Screws With Flange With '&Point Socket

Unit mm:

'&-Point Flange Head Screws ('&.(/ ASTM F")#M)

Standard IFI ''%-&$$&: Unit inch:

#$%&：DIN!"#&&-&$$%

Standard DIN!"#&&-&$$%:

Part Number Designation

JX-D!"#$$- M%- &$-  ST

Thread

Code

Long

Code

Material

Code

:Material Carbon Steel

Type

and

Material

Unit mm:

Size

d
Thread

Code

P/N

M%

M)

M#

M'$

M'&

b
L

Long Code
ds k

Max Min Max Min

M'"

$.#

'.$

'.$

'.$/'.&%

'.&%/'.%

'.%

M') '.%

JX-D!"#$$-M%-L-ST

Carbon Steel Stainless steel
dk

M'#

M&$

'.%/&.$

'.%/&.$

M" $.* !%

"$

%$

)%

#$

#$

#$

#$

#$

#$

".)

%.%%

*.!

(.&

'$.(%

'&.)%

')."

'#.'%

&'.#%

&'.#%

"

%

)

#

'$

'&

'"

')

'#

&$

!.#&

".#&

%.#&

*.*#

(.*#

''.*!

'!.*!

'%.*!

'*.*!

'(.)*

".%

%.%

).%

#.&

'$

'&

'"

')

'#

&$

".&%

%.&%

).&%

*.(%

(.*%

''.*%

'!.*%

'%.*%

'*.*%

'(.*%

JX-D!"#$$-M"-L-ST

JX-D!"#$$-M)-L-ST
JX-D!"#$$-M#-L-ST
JX-D!"#$$-M'$-L-ST
JX-D!"#$$-M'&-L-ST
JX-D!"#$$-M'"-L-ST
JX-D!"#$$-M')-L-ST
JX-D!"#$$-M'#-L-ST
JX-D!"#$$-M&$-L-ST

"$%$)$*$#$'$$

"$%$)$*$#$'$$

"$%$)$*$#$'$$

*$#$'$$''$'&$'!$'"$

($'$$''$'&$'!$'"$'%$

($'$$''$'&$'!$'"$'%$

($'$$''$'&$'!$'"$'%$

($'$$''$'&$'!$'"$'%$

($'$$''$'&$'!$'"$'%$

($'$$''$'&$'!$'"$'%$

Grade:#.#'$('&(、 . 、 .

Part Number Designation

JX-IFI ''%- '/"- &%-  ST

Thread

Code

Long

Code

Material

Code

:Material Carbon Steel

Type

and

Material

dds

h

k L
b

dk
dc

Grade:#.#'$('&(、 . 、 .

s
dc

d

LK

dk

Part Number Designation

JX-D!"#&&-  M)- '%-   ST

Thread

Code

Long

Code

Material

Code

:Material Steel

Type

and

Material

Grade:#.#'$('&(、 . 、 .

')&

Cross Recessed Pan Head Screws,Single Coil Spring Lock Washer And Plain Washers Assemblies

h1

H

d1

n

h2
d2
dc

Material Carbon Steel 5.8 8.8 10.9: Unit mm:

Flat Washer Standard:GB/T9074.24-1988

Spring Washer Standard GB T9074 26 1988: / . -

Screws Standars:GB/T818-2000

Standars:GB/T9074.4

dk

h1

H

dc

h2

k

Part Number Designation

JX-D!"#$$S-  M%- &$- SS

Thread

Code

Long

Code

:Material Stainless Steel

Type

and

Material

Material

Code

Part Number Designation

JX-GB($*"."-M&.%- L -  ST

Thread

Code

Long

Code

Material

Code

:Material Carbon Steel

Type

and

Material

Part Number Designation

JX-GB($*"."- M&.%- L -SS

Thread

Code

Long

Code

:Material Stainless Steel

Type

and

Material

Material

Code

M2.5X0 4.

M3X0 5.

M4X0 7.

M5X0 8.

M6X1.0

M8X1.25

M10X1.5

P/N
Carbon Steel Stainless Steel

dk k d1 h1 n H d2 h2dc

JX-GB9074.4-M2.5-L-ST

JX-GB9074.4-M3-L-ST

JX-GB9074.4-M4-L-ST

JX-GB9074.4-M5-L-ST

JX-GB9074.4-M6-L-ST

JX-GB9074.4-M8-L-ST

JX-GB9074.4-M10-L-ST

8 -304.7-5

5.3-5.6

7.64-8

9.14-9.5

11.57-12

15.57-16

19.48-20

2.1-1.96

2.26-2.4

2.92-3.1

3.52-3.7

4.3-4.6

5.7-6

7.14-7.5

2.2-2.34

2.69-2.83

3.6-3.78

4.45-4.75

5.41-5.71

7.28-7.64

9.23-9.59

0.52-0.68

0.7-0.9

1-1.2

1.2-1.4

1.5-1.7

1.9-2.1

2.35-2.65

0.9-1.1

1.1-1.3

1.4-1.6

1.9-2.1

2.35-2.65

2.85-3.15

3.3-3.7

1.2-1.5

1.6-2

2.2-2.75

2.6-3.25

3.2-4

4-5

5.0-6.25

2.24-2.34

2.73-2.83

3.66-3.78

4.57-4.75

5.53-5.71

7.42-7.64

9.37-9.59

5.7-6.0

6.64-7.0

8.64-9.0

9.64-10

11.57-12

15.57-16

19.48-20

0.45-0.55

0.45-0.55

0.7-0.9

0.9-1.1

1.4-1.8

1.8-2.2

2.3-2.7

8 -30

8 -40

8 -45

8 -50

12 -65

15 -85

JX-GB9074.4-M2.5-L-SS

JX-GB9074.4-M3-L-SS

JX-GB9074.4-M4-L-SS

JX-GB9074.4-M5-L-SS

JX-GB9074.4-M6-L-SS

JX-GB9074.4-M8-L-SS

JX-GB9074.4-M10-L-SS

JX-D!"#$$-M%-L-SS
JX-D!"#$$-M"-L-SS

JX-D!"#$$-M)-L-SS
JX-D!"#$$-M#-L-SS
JX-D!"#$$-M'$-L-SS
JX-D!"#$$-M'&-L-SS
JX-D!"#$$-M'"-L-SS
JX-D!"#$$-M')-L-SS
JX-D!"#$$-M'#-L-SS
JX-D!"#$$-M&$-L-SS

Part Number Designation

JX-IFI ''%- '/"- &%- SS

Thread

Code

Long

Code

:Material Stainless Steel

Type

and

Material

Material

Code

Size

d
Thread

Code

P/N L

Long Code

mm

K

Max Min MaxCarbon Steel Stainless steel

dsb dk

JX-IFI ''%-'/"-L-ST

dc

MinMin

'

'.'&%

'.&%

'.!*%

'.%

'.)&%

'.*%

&.$

&.&%

&.%

&.*%

!.$

!.&%

!.%

$.&*#

$.!"#

$."&

$."#(

$.%)&

$.)!!

$.*$%

$.#"*

$.(#*

'.'!

'.&*'

'."'"

'.%%)

'.)(*

$.&"!%

$.!$%!

$.!)*#

$."&("

$."('(

$.%%!#

$.)')!

$.*"$)

$.#)"*

$.(##)

'.'$#)

'.&!!)

'.!%)#

'."#'#

$.!*%

$.")(

$.%)&

$.)%)

$.*%$

$.#""

$.(!#

'.'&%

'.!'&

'.%

'.)##

'.#*%

&.$)&

&.&%

$!)%.

$."%*

$.%%

$.)"&

$.*)%

$.#&#

$.(&'

'.'$*

'.&(!

'."*(

'.))%

'.#%&

&.$!#

&.&&"

$.&)

$.!'&

$.!*%

$."!#

$.%$$

$.%)!

$.)&%

$.*%$

$.#*%

'.$

'.'&%

'.&%

'.!*%

'.%

'"/

%/')

!/#

*/')

'/&

(/')

%/#

!/"

*/#

'

'-'/#

'-'/"

'-!/#

'-'/&

&$&#、

'#&"、

')&"、

'"&$&#、 、

'!&$&#、 、

'&'#&"、 、

'''#&"、 、

'$')&$、 、

('"&$、 、

#'&&$、 、

*'&'#、 、

*'&'#、 、

)'&'#、 、

)'&'#、 、

JX-IFI ''%-%/')-L-ST

JX-IFI ''%-!/#-L-ST

JX-IFI ''%-*/')-L-ST

JX-IFI ''%-'/&-L-ST

JX-IFI ''%-(/')-L-ST

JX-IFI ''%-%/#-L-ST

JX-IFI ''%-!/"-L-ST

JX-IFI ''%-*/#-L-ST

JX-IFI ''%-'-L-ST

JX-IFI ''%-'-'/#-L-ST

JX-IFI ''%-'-'/"-L-ST

JX-IFI ''%-'-!/#-L-ST

JX-IFI ''%-'-'/&-L-ST

!$"$%$)$*$#$($'$$

!$"$%$)$*$#$($'$$

"$%$)$*$#$($'$$''$

"$%$)$*$#$($'$$''$

"$%$)$*$#$($'$$''$

%$)$*$#$($'$$''$'&$

%$)$*$#$($'$$''$'&$

)$*$#$($'$$''$'&$

)$*$#$($'$$''$'&$

*$#$($'$$''$'&$'!$

*$#$($'$$''$'&$'!$

#$($'$$''$'&$'!$'"$'%$

#%($'$$''$'&$'!$'"$'%$

($'$$''$'&$'!$'"$'%$

JX-IFI ''%-'/"-L-SS

JX-IFI ''%-%/')-L-SS

JX-IFI ''%-!/#-L-SS

JX-IFI ''%-*/')-L-SS

JX-IFI ''%-'/&-L-SS

JX-IFI ''%-(/')-L-SS

JX-IFI ''%-%/#-L-SS

JX-IFI ''%-!/"-L-SS

JX-IFI ''%-*/#-L-SS

JX-IFI ''%-'-L-SS

JX-IFI ''%-'-'/#-L-SS

JX-IFI ''%-'-'/"-L-SS

JX-IFI ''%-'-!/#-L-SS

JX-IFI ''%-'-'/&-L-SS

Size

d

Thread

Code

P/N

M)

M#

M'$

M'&

L

Long Code

dk
s

Max Min Max Min

'.$

'.&%

'.%

'.*%'%、 .

Carbon Steel Stainless steel

dc

JX-D!"#&&-M)-L-ST #'$'&')&$&%!$!%"$

Max Min

M'"

M')

&'%、 .

'.%&.$、

Max Min

k t
Slot

No

''

'".%

'*

'(

&&.%

&%.%

'$.%*

'".$*

').%*

'#."#

&'.(#

&".(#

'".&

'#

&&.!

&).)

!$.%

!%

'!.'

').(

&'

&%.!

&#.(

&!."

)

#

'$

'&

'"

')

%.*

*.)"

(.)"

''.%*

'!.%*

'%.%*

!."

"."#

%."#

)."#

*.%#

#.%#

!

"

%

)

*

#

*."

(#".

''.*

'!.%"

'%.((

'*.'#

N#

N'$

N'&

N'"

N')

N'#

JX-D!"#&&-M#-L-ST

JX-D!"#&&-M'$-L-ST

JX-D!"#&&-M'&-L-ST

JX-D!"#&&-M'"-L-ST

JX-D!"#&&-M')-L-ST

'$'&')&$&%!$!%"$"%

'&')&$&%!$!%"$"%%$

')&$&%!$!%"$"%%$%%

&$&%!$!%"$"%%$%%)$

&%!$!%"$"%%$%%)$)%

JX-D!"#&&-M)-L-SS

JX-D!"#&&-M#-L-SS

JX-D!"#&&-M'$-L-SS

JX-D!"#&&-M'&-L-SS

JX-D!"#&&-M'"-L-SS

JX-D!"#&&-M')-L-SS

Part Number Designation

JX-D!"#&&- M)- '%- SS

Thread

Code

Long

Code

:Material Stainless Steel

Type

and

Material

Material

Code

dk

d
t

d

b

d
s

k L

From C：

d

b

d
r

k L

L '$d<

d

b

d
s

k L

d
r

L '$d≥

From B：

d

k L

Screws with thread to head

Surface treatment: ROHS zinc, nickel,

zinc-nickel alloy,dacromet, copper

Material:Carbon Steel,Stainless Steel.

Brass,Aluminum,Titanium

Surface treatment: ROHS zinc, nickel,

zinc-nickel alloy,dacromet, copper

Material:Carbon Steel,Stainless Steel.

Brass,Aluminum,Titanium

Surface treatment: ROHS zinc, nickel,

zinc-nickel alloy,dacromet, copper

Material:Carbon Steel,Stainless Steel.

Brass,Aluminum,Titanium

A

B

C

D

E

H

h
ttp

://w
w

w
.ju

x
in

fa
ste

n
e

rs.co
m


